| Efficiency vs Dxy |

> 0.1
<

§S) : : : :
e S R o
S : : : :

Boof il

.(D H H H H
KT O e e A
© : : : :
0.06 it
e
00aF—+ ot L
003
002
et

0
1

Ratio

0.9

0.8

...........................

..........................

...........................

D5 20-15-10 -5

0 5

101520 25
TP dxy (cm)

| Efficiency vs Dz |

V4

o

~ o]
[TTT T[T TTT

o
o))

efficiency vs d
o
~

o
[

o

o
6]
[TTTTLTTTT

=
LIS L L
A g

—=— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100
—e— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0

PCutOverlap

......................................................................

......................................................................

—— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi

102030

TP dz (cm)



	Contents
	Page 1


